Skip to content

Manuals+

User Manuals Simplified.
Akuvox IT88S 10 Inch Smart
Intercom Panel User Guide

Home » Akuvox » Akuvox IT88S 10 Inch Smart
Intercom Panel User Guide

Contents hide
1 Akuvox IT88S 10 Inch Smart Intercom Panel
2 Unpacking

3 Product Overview

4 Installation

5 Device Wiring

6 Application Network Topology
7 Configuration

8 Operation
9 Documents / Resources

10 Related Posts

Akuvox IT88S 10 Inch Smart Intercom Panel

@40 o

3:40.

2020.03.31 - Wed

=]

Message

Unpacking

Before you begin using the device, please check the version you got and ensure that the following items are included
in the shipped box:


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/akuvox

« Plastic wall anchor x 4
« M3x6 cross head screw x 1
e 11-Pin cable x 1

O =i

I
&) d[_

Wall-mounting bracket x 1

o ST 4x20 cross head screw x 4
M3x10.5 hex socket screw x 1
10-Pin cable x 1

P {/eeasaseses
¢ M4x30 cross head screw x 4
e Diode x 2
¢ Allen wrench x 1

SR L S

L

« IT88X x 1

Product Overview



Camera {Optiunal}—l
Front View Mic —f— > Right View || R

Touch Screen E-%Micro SDslot

|1

Rear View (@ ® = ® ®
i ¥ O [ )
— JHLl Q‘ | @ i—'” =11 P_inTorm_inals
= Cl.........::ﬁ'b =1 10 Pin Terminals
; Metwark Interface (POE )
=l O i =
Loudspeaker hd ﬂ Loudspeaker
@ — gl — @

IT88X Installation

Step 1: Wall-mounting Bracket Installation
Without an embedded box in the wall

1. According to the position of the cable in the wall, dig out a square hole
(height*width*depth=66*50 *50mm) that can accommodate all cables.

2. Align the square hole of the wall-mounting bracket with the hole dug out before, then mark the four fixation
holes through
wall-mounting bracket on the wall.

o 50.00 mm 9
s om ) __—

'——66.00 mm—‘

bl

3. Take down the wall-mounting bracket, then using a 6mm hand drill to make the four fixation holes on the wall
which marked before.
4. Once the fixing holes were made, insert four plastic wall anchors.



e 5
- LS -
; ’." l¢1 D B “

| —

5. Twist M3xI0.5 hex socket screw into the bottom hole of the wall-mounting bracket until the tail of which aligns
with the edge. Then fix the wall-mounting bracket on the wall with four ST4x20 crosshead screws. If there is a
ground wire to be connected, please use M3x6 crosshead screw to fix it on the wall-mounting bracket.

With embedded box in the wall

Twist the M3x10.5 hex socket screw into the bottom hole of the wall-mounting bracket until the tail of which aligns with
the edge. Then fix the wall-mounting bracket on the wall with two M4x30 crosshead screws. If there is a ground wire
to be connected, use an M3x6 crosshead screw to fix it on the wall-mounting bracket.

Step 2:Device Mounting

1. Connect the cables to device.



Device Wiring

Warning

When you connect a device containing a coil, such as a relay or an electromagnetic lock, it is necessary to protect

the

intercom against voltage peak while switching off the induction load. For this way of protection, we recommend e a

Lock
diode Lock

+
o
L

=
Diode

Terminals



11FIN  10PIN

._
o

=
=4

® FJSLT Black GND
® X
® [~ Brown 108
® Purple ot
® | Atarm White |06
® Input Blue a5 g Sensors
® Green 104 =
® Yellow 103
[C] QOrange 102
(O] L Grey a1l
Right

Left

@ ri'g;vftr Rfd ) — ;LEDV @ Voltage Transformer

® — Black —— —I— w

@ Doarbell Doorbell

Input —— Yallow —— BELL =

® Blue —— e ==

® RS485 I: Creni :::::'; TEmmr= | Elevator Control Device

® Rel Brown —— NC e I

ela f |

® | output A Gl coM o g‘- %L] Door Lock

® Purple —— NO — &

- Brown —— NC — P

Rela i | ’
® outquB White —— cOM —— 0@} 3 W Door Lock
® Purple MO =
Right

Application Network Topology

SIP Video Phone  Network Video Recorder PC

(third party) (third party)
‘ PoE |
[ o )
PoE PoE PoE PoE
e ] mn_pm
EEEREEN
ITE8X IT88X D
- "
<8 e

Door Phone Door Phone

Configuration

1. Access basic information: After setting up network and power, enter Setting> System Info to check Account,
Network,Version status.

2. Access the Website: Launch a browser and type in the IP address then enter the username and password to
login (user name/password: ad min /ad min by default).

3. Account Registration: On web Ul, go to the path: Account> Basic page to fill in the account information,click
Submit to confirm (Please refer to user manual for more information).

Operation

Make a call:



Enter the callee’s number or room address, then press the Dial icon to make an audio call or press the Video icon to
make a video call. Press the Dial icon to hang up.

Receive a call:

N

N
Press the CJa icon to pick up the incoming call in video or press % icon to pick up the call in audio mode.

Unlock:
During the talk, you can press Unlock icon on the talking interface to unlock the door.

Monitor:
Press the Monitor icon to receive the video from the door phone or from third-party devices.

Notice Information
Information contained in this document is believed to be accurate and reliable at the time of printing. This document
is subject to change without notice, any update to this document can be viewed on Akuvox’s website:

© Copyright 2022 Akuvox Ltd. All rights reserved.

AKUVOX (XIAMEN) NETWORKS CO., LTD.
ADD: 10/F, NO.56 GUAN RI ROAD, SOFTWARE PARK 11, XIAMEN 361009, CHINA
www.akuvox.com

Documents / Resources

" Akuvox IT88S 10 Inch Smart Intercom Panel [pdf] User Guide
_IT88S, IT88S 10 Inch Smart Intercom Panel, 10 Inch Smart Intercom Panel, Smart Intercom Panel,
Intercom Panel, Panel



http://www.akuvox.com
https://manuals.plus/m/c3d84bec11ac9fcd881924fdb9a8b00f7443e64bc2c326efa1432547340670cf
https://manuals.plus/m/c3d84bec11ac9fcd881924fdb9a8b00f7443e64bc2c326efa1432547340670cf_optim.pdf
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/privacy-policy

	Akuvox IT88S 10 Inch Smart Intercom Panel User Guide
	Akuvox IT88S 10 Inch Smart Intercom Panel
	Unpacking
	Product Overview
	Installation
	Device Wiring
	Application Network Topology
	Configuration
	Operation
	Documents / Resources


